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@D IPv6 (Internet Protocol version 6) F49] Ao|+=
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@ UDP (User Datagram Protocol) & 3%
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@ CGI(Common Gateway Interface) Z 2132
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#include <stdio.h>
int func(int a, int b) {

int temp;

if (b == 0)
return a;
else {
temp = a % b;

return func (b, temp);

}
void main (void) {
printf ("$d", func(120, 180));
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<SQL &>

@ SET 4% = 500000 WHERE A+ = ‘a3
@ SET 4% = 500000 HAVING A& = ‘a3
@ ALTER 4% = 500000 WHERE &+ = ‘93
@ ALTER 4% =500000 HAVING A& = ‘%3
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1. 2 A (heap sort) zko] EAIE MAE 4 QT
L. 712~ A4 (radix sort) @ SRAM (Static Random Access Memory)-<
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@ 9] 2 7+a} (superscalar) #1Il1c udr.e <st<.:110 >
® Eﬂo]x] x}] (dalsy chain) vold main (void) {
i 5] = {3, 5, 8, 10, 19};
@ DMA (Direct Memory Access) int num[>] = }
] ’ r = 0;
@ PCI(Peripheral Component Interconnect) int %, y, sum
for (x = 0; x < 5; xt++) {
for (y = 2; y <= num[x]; yt++)
if (num[x] $ y == 0) break;
if (y == num([x])
sum += num[x];
}
printf ("sd", sum);
}
@D 15 @ 18 @ 27 @ 45
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